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A3 H R AT 32 65 32 33
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A% 3 HT 597 1,380 708 672
ZRIRHET 466 1,255 614 641
HFW—TH 313 842 410 432
FIWLW=TH 157 498 237 261
FW=TH 259 656 305 351
FWETH 143 462 235 227
SWWETH 146 464 223 241
FSRTH 205 624 298 326
SWETH 299 855 401 454
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ERE—TH 4 7 5 2
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ERE=TH 313 863 426 437
R EFET 202 374 193 181
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HEEmE AT 44 101 45 56
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& 23R HT 12 24 9 15
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RicFEIZTH 153 346 164 182
RicFET=TH 382 783 356 427
mieFH—TH 153 308 151 157
i =TH 420 1,129 557 572
BT =TH 458 1,170 572 598
AL FHETH 287 787 374 413
B FETATH 332 719 352 367
[(FE#hX] 8,141 18,980 9,042 9,938
ch ¥h = T 32 80 38 42
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FH_EHT 23 61 29 32
dhat HT 282 728 336 392
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= FRHET 1 1 0 1
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AREET—TH 715 1,735 835 900
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EAREEI=TH 260 695 315 380
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¥ FHHET 71 178 75 103
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AR E T 12 27 12 15
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FHT 51 105 38 67
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= X HET 18 38 19 19
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= FHEHET 96 109 9 100
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= KHEHT 572 1,384 662 722
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TRDE=TH 399 1,054 501 553
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icEN:] 317 900 423 477
J\SEHT 40 110 58 52
I\E&—TH 179 463 223 240




IHT%FJ'IJTE‘ #HEUAO TR174E6 81 BEE

T HHF A a 5 =
J\&_TH 2 8 4 4
J\E=TBH 17 49 27 22
J\EWMTH 1 1 1 0
JNERTH 27 68 36 32
RELEFH—TH 113 335 163 172
RELEFHB_TH 1 2 1 1
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RELZFNTH 325 746 382 364
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NEXEIMTH 200 556 269 287
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AHBMTH 63 175 82 93
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FARFHET—TH 480 1,110 545 565
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P R F AT 234 493 235 258
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=IZIL—TH 363 1,011 493 518
FIFELU=TH 273 691 309 382
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FIEIUE—TH 126 338 154 184
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X¥%=TH 422 1,162 547 615
KEMTH 334 882 414 468
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S ThHr 590 1,407 715 692
5 EMT 53 124 54 70
HH ch T 390 955 434 521
[(FBEHMX] 324 1,059 513 546
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KA ET 50 174 83 91
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HIE & 3 EHT 29 81 38 43
JK I ET 113 361 170 191
Al Fir BT 23 79 43 36
CIEFTH=Y] 464 1,445 688 757
A0 A BT 97 307 144 163
N 86 177 89 88
i 4 [ T 48 168 81 87
£ Jth AT 110 359 168 191
RERHET 40 147 68 79
FHAE BT 62 213 105 108
Jt B7 LI HT 21 74 33 41
[RAAEH#X] 389 1,277 598 679
R4 BT 148 491 233 258
B [ BT 116 373 177 196
R EHT 35 139 68 71
A E | LHET 47 142 61 81
REALET 43 132 59 73
[EEE#IX] 337 1,029 498 531
28I’y 116 394 179 215
A FEHT 31 108 56 52
L AT HT 33 79 37 42
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S5 KT 24 72 38 34
A B HT 46 111 51 60
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HOE I AT 20 68 35 33
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[ [ BT 11 41 24 17
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A 'r;’:FE#JE*Er 123 481 233 248
[#R#R#h X ] 1,997 6,728 3,308 3,420
R4 EE 2 EHT 70 226 105 121
ZR 4B A [if] BT 17 72 34 38
Sl FFHT 15 64 28 36
ZR 4B & H BT 226 526 227 299
RE AT 130 452 239 213
ER 4R/ L T 59 239 113 126
ZR B 48 ol BT 29 127 60 67
£R 4R 0t (LI AT 146 569 278 291
B SALME 219 736 382 354
=) 325 1,127 566 561
SHHT 318 951 471 480
&1+ Bl FrET 102 309 160 149
INEHT 93 347 165 182
EZEIET 68 268 137 131
T )BT 48 194 90 104
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2840 E 50T 53 186 89 97
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